
V
ed

ic
 M

at
he

m
at

ic
s

M
. K

ri
sh

na
m

o
or

th
y 

(m
oo

rt
hy

)

em
ai

l 
ad

dr
es

s:
 m

oo
rt

hy
@

cs
.r

pi
.e

d
u

U
R

L
:

ht
tp

://
w

w
w

.c
s.

rp
i.e

du
/~

m
o

or
th

y/
vm

S
ut

ra

 1
. E

ka
dh

ik
en

a 
Pu

rv
en

a

 B
y 

o
ne

 m
or

e 
th

an
 th

e
 p

re
vi

ou
s 

on
e.

T
he

 p
re

po
si

ti
o

n
 “

b
y”

 m
ea

ns
 th

e
 o

pe
ra

tio
ns

th
is

 su
tr

a 
co

nc
er

ns
 a

re
 e

ith
er

 m
ul

ti
pl

ic
at

io
n

or
 d

iv
is

io
n

 ( 
In

 th
e 

ca
se

 o
f

ad
di

ti
on

/s
ub

tr
ac

tio
n

 p
re

p
os

iti
on

 to
/fr

om
 is

us
ed

.)
. I

n
 th

is
 c

as
e

 it
 i

s 
us

ef
ul

 f
or

 b
ot

h 
of

th
em

.

E
xa

m
pl

es

67
 *

 6
3

72
 *

 7
8

84
 *

 8
6

W
hy

 d
oe

s 
it 

w
or

k?

 x
 y

 =
 1

0
 *

 x
 +

 y

a 
b 

=
 1

0 
* 

a 
+

 b

x 
y 

* 
a 

b 
( 

w
e 

kn
ow

 th
at

 x
=

a,
 y

+
b=

1
0)

(1
0*

a
 +

 y
) 

(1
0

*a
+

b)
 =

 1
0

0
 â
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